Day 6.notebook September 13, 2018

1-5 HW Answer Key
1. (x+2)(2x+3)

2. (4x-3)(4x+1)
3. (x-6)(x-1)

4, (x-3)(x+2)

B. 2x(x+1)(x+2)
6. 3x(x+1)(x+3)
7. 3y(y-5)(y+1)
8. 4m(m+4)(m-4)
9. x%-3x+1

10. -2x°-7x+16
11. -9x%+2x-2
12. -10x%y*23-35x%y22°+15x%y*2*- 25"y 23
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Alg 2 Homework 1-5 Name _[Coc] —

Factor u@#s 2and 4. Remember to check by multiplying the factors.
== S=7, 3 4
4 2T (¥ 1) xt3)

L 2x°+Tx+ 6
= ieEe =
= AR L) B ) cﬁ;t'l*f;_ i "
= (x+)(2xtD) = AEpEe

2 183 [T, S=-3> 47 f%?

= L:Lnim‘ 1”'[3—5 ¢ quyiﬂ
: = ":l—];-q.q"'h:"'—'l'l ;'f-
= oxt (dX =)+ (A =3) _}ff}.ﬁ—.. Tx -3

(ly=3MHc+)

3. x5 -Tx+b P=t, 2="17,
= (%G =t)

"?1 —-l‘f.pj S—"‘—'-‘IIJ %5

4, % -x-6
= xtrax-2r b
= x‘l-—}{ —(

Factar the following expressions completely.

5. 2x*+ 6 s dx _ po2.577 6. 3x® + 115 + Ox 3, 5=t
=2 (3xr2) > ax (i 43) | A3
=M FX) = XA+ K3 )

7. 3y - 12y - 15y ;;5.‘5':,'4 8. 4m’ - 64m

=3y oy =S) T T2 g (1)

= Q=Y )

B ACER A
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Simplify by re-writing each polynomial in standard form atter applying The
operations in the appropriate order. 1
X -2X 41

9. (%7 - 7% + 13x - 4) + (x-4) Yo x%- 130 Y

—~_,i_[5'-f‘1‘}-<1
=T s 4
artfex
X —4

0

10, (557 - 4x + 7) + (-3x + 9 - 7x%)
= A= xtle

11. Subtract (3% - 2x + 9) from (7 - 6x%)
(- 6x™ )= (3K E—ax +4 )
o B AN % fal ot

S S N Sl

12, -Sadyzi{2xy’ + Txyz® - Iy'z + 5x")
R ST ¥ 3 2.5 15"?’15)(; %3
- 7 JOX qf‘35ﬂﬂg£ﬁ5x}?'—= %

7
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2 Long fro|Sum
(X -12x"D s =30

/ /\ \ Sum<= -18

30

. bx*> -ISx +3ax =5, —+—3e—
2 -
2x(2x ~5) +1 (3x-5) R

(ax-5) (3x+1) —5—6—
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1-6: Sum/Difference of Cubes
Warm-up: Factor Completely.

1. x2—25 DOVS 2 x4— 625 §
(x+5) (X-5) (x*+a5) (x*-25)
(x*+as) (x t5)(x5)

Isx?-8=(x—-2)(x—2)(x—2)? Algebraically justify your answer.

(=D O 4y t4) o
x>~y > 4 X |
AN Gl g 8 A Y %/

3 2 .
X/g ?é_ X ’(OXQ‘HAK % 7\3’8 # ()(’:1)3
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We can factor binomials that are sums or differences of cubes. First completethe
followingtable to prepare for this factoring method.

Integer | Square | Cube
1 / /
2 4 S
3 9 A7
4 (b 3
D kS5 | /125
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Factoring sum or difference of cubes:

- +h
@1 b= (ﬂ.é bY@ Zab™ 1) SOA-P a*-b"=(a-b) (a >
al—b3= (HE b)(a> @ abA—sz) ’
S Seng S 41)
= Offr- S(a ]

A poocar?
Example: Fa -;-t p S OLIUO/*/Q

This isx3 — 22, so we get: a3 b} [ﬁ’b>(a + ab +‘bl)

}1“>><

x-8 = (x-a)(x*+ ax + 57

(-2 +&x@
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Try these. Remember @+ b3=(a+ b)a*—ab+ b?)
a—b3=(a—-b)a*+ ab+ b?)
1. 3+8 (atb)(a*-ab+b) 2 y-125 (a-b)lo%ab 8
a-dp =X a=Jy =
b-d§=a b =125 =5
(x+)(x= ax+1) @ e 55“5)7
3. x3-64 (a-b)(a*+eb+b) 4. 64-3° (a-DMa*tab +b?)
aza’x?: )( Qa =arb\‘(- ='+

o=30% =4 b =gx> =X
%()«—/@( x°++x+'(0)1 . (“f‘X)(Ho +4Yx +x’>
OW 4-x (X2 +4x¢ +/(o)j
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5. 64x3+1 (G@(“z'““u) 6. 125y°—1 (a@(azimb +b?)
0&—‘\@?: Lb( O\=55
b=d1 =1 b=

(ehet () - ﬂL —(‘59-() ((s‘él +5 +1)
(D (ox=4x t1) ) W% D (3542454 +D) |

Factor the following and verify that the factored expression 1s equivalent to the original.

y’+125 (O-Jta (a%-ab "rbz)

Q= b=5
‘ (ytD(y™-54+25) \
R
\39 ~ 4By +05

2 Y125 v
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